
MATHS

BOOKS - JEEVITH PUBLICATIONS MATHS

(KANNADA ENGLISH)

TRIGONOMETRY

Convert The Following Into Degrees

1. 

Watch Video Solution

= = 60∘πc

3
180∘

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ESb71HvdYNyA
https://dl.doubtnut.com/l/_smSTniP5UKaz


2. 

Watch Video Solution

= = 30∘πc

6
180∘

6

3. 

Watch Video Solution

= = 60∘πc

3
180∘

3

4. 

Watch Video Solution

= = 30∘πc

6
180∘

6

https://dl.doubtnut.com/l/_smSTniP5UKaz
https://dl.doubtnut.com/l/_St6f4B9ettPQ
https://dl.doubtnut.com/l/_mgkeTdfj8TlZ


Convet Into Radians

5. 

Watch Video Solution

= = 60∘πc

3
180∘

3

6. 

Watch Video Solution

= = 30∘πc

6
180∘

6

1. 

Watch Video Solution

30∘ = × 30 =
π

180
πc

6

https://dl.doubtnut.com/l/_81CjhIB1KhTM
https://dl.doubtnut.com/l/_kXGanbVUvkFR
https://dl.doubtnut.com/l/_2DUhTzBhy3AX


2. 

Watch Video Solution

22∘ 30 = (22 ) = ( )
∘

= × =
1

2
45
2

45
2

π

180

πc

8

3. 

Watch Video Solution

30∘ = × 30 =
π

180

πc

6

4. 

22∘ 30 = (22 ) = ( )
∘

= × =
1

2
45
2

45
2

π

180
πc

8

https://dl.doubtnut.com/l/_2DUhTzBhy3AX
https://dl.doubtnut.com/l/_yQ0OSxk9VXyW
https://dl.doubtnut.com/l/_aemt5lRyZ9C8
https://dl.doubtnut.com/l/_FcrvqBHkcKn5


One Marks Questions With Answers

Watch Video Solution

5. 

Watch Video Solution

30∘ = × 30 =
π

180
πc

6

6. 

Watch Video Solution

22∘ 30 = (22 ) = ( )
∘

= × =
1

2
45
2

45
2

π

180
πc

8

https://dl.doubtnut.com/l/_FcrvqBHkcKn5
https://dl.doubtnut.com/l/_ya6bV4qb5DFU
https://dl.doubtnut.com/l/_GgZEYbvrQaxv
https://dl.doubtnut.com/l/_WCPGUMOHPJDg


1. The angles is a triangle are in the ratio .

Find the magnitude of the greatest angle in radians.

Watch Video Solution

1: 3: 5

2. Find the radians the interior angle of a regular

pentagon.

Watch Video Solution

3. On a circle of radius 2 cm, find the length of the

arc subtending an angle of .

Watch Video Solution

15∘

https://dl.doubtnut.com/l/_WCPGUMOHPJDg
https://dl.doubtnut.com/l/_Y4gFGpXlK1Lg
https://dl.doubtnut.com/l/_1jYA7no2i3LG


4. The length of an arc of a circle of radius 25 cm is

32 cm. Find the angle subtended by the arc at the

centre of the circle.

Watch Video Solution

5. The angles is a triangle are in the ratio .

Find the magnitude of the greatest angle in radians.

Watch Video Solution

1: 3: 5

https://dl.doubtnut.com/l/_1jYA7no2i3LG
https://dl.doubtnut.com/l/_44NGICBJdEmx
https://dl.doubtnut.com/l/_QGwL83JoP5qx


6. Find in radians the interior angle of a regular

pentagon.

Watch Video Solution

7. On a circle of radius 2 cm, find the length of th are

subtending an angle of .

Watch Video Solution

15∘

8. The length of an arc of a circle of radius 25 cm is

32 cm. Find the angle subtended by the arc at the

https://dl.doubtnut.com/l/_2cgfqNR3xV37
https://dl.doubtnut.com/l/_o7lXEETyvoLD
https://dl.doubtnut.com/l/_lbFjvRPUNpRx


centre of the circle.

Watch Video Solution

9. The angles is a triangle are in the ratio .

Find the magnitude of the greatest angle in radians.

Watch Video Solution

1: 3: 5

10. Find in radians the interior angle of a regular

pentagon.

Watch Video Solution

https://dl.doubtnut.com/l/_lbFjvRPUNpRx
https://dl.doubtnut.com/l/_Zv0zzAfc8V0V
https://dl.doubtnut.com/l/_5XL8Hfwjng7m
https://dl.doubtnut.com/l/_EkqXnxbtj1EL


Two Marks Questions With Answers

11. On a circle of radius 2 cm, find the length of th

are subtending an angle of .

Watch Video Solution

15∘

12. The length of an arc of a circle of radius 25 cm is

32 cm. Find the angle subtended by the arc at the

centre of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_EkqXnxbtj1EL
https://dl.doubtnut.com/l/_ktlbHRQDWCX0


1. A wire of length 10 cm is bent so as to form an arc

of a circle of radius 4 cm. What is the angle at the

centre in circular measure?

Watch Video Solution

2. A circular wire of radius 6 cm is cut & bent so as

to form an arc of a cricle of radius 48 cm. Find the

angle in degrees subtended by the arc at the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_7eqU9bt61LXV
https://dl.doubtnut.com/l/_rJddAGWxgzXh


3. Convert  into radian measure.

Watch Video Solution

40∘ , 20'

4. Convert 6 radians into degree measure.

Watch Video Solution

5. Find the radius of the circle in which a central

angle of  intercepts an arc of length 37.4 cm (use

)

Watch Video Solution

60∘

π =
22

7

https://dl.doubtnut.com/l/_6sCbiU9DHvHX
https://dl.doubtnut.com/l/_66RQnXYzdnkQ
https://dl.doubtnut.com/l/_NsMwYZRS0NYY


6. The minute hand of a watch is 1.5 cm long. How far

foes its tip move in 40 minutes?

Watch Video Solution

7. If the arc of the same lengths in two circles

subtend angles  and  at the centre, find the

ratio of their radii.

Watch Video Solution

65∘ 110∘

https://dl.doubtnut.com/l/_NsMwYZRS0NYY
https://dl.doubtnut.com/l/_xeqStE6SfQgm
https://dl.doubtnut.com/l/_s5mIKAmX8ZYv


8. A wheel makes 360 revolutions in one minute.

Through how many radians does it turn in one

second?

Watch Video Solution

9. Find the degree measure of the angle subtended

at the centre of a circle of radius 100 cm by an arc of

length 22 cm ( Use )

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_YZWNF5Jqka9x
https://dl.doubtnut.com/l/_1FlPNlHgszKX


10. In a circle of diameter 40 cm, the length of a

chord is 20 cm. Find the length of minor arc of the

chord.

Watch Video Solution

11. If in two cirlces arcs of the same length subtend

angles  and  at the centre, find the ratio of

their radii.

Watch Video Solution

60∘ 75∘

https://dl.doubtnut.com/l/_mhHuZhCERL48
https://dl.doubtnut.com/l/_ersNI7ZPA8dJ


12. If  find  & 

Watch Video Solution

sin A =
1

2
sin 2A cos 2A

13. If , find  &  is acute.

Watch Video Solution

sin A =
3

5
sin 3A cos 3A, A

14. A wire of length 10 cm is bent so as to form an

arc of a circle of radius 4 cm. What is the angle at

the centre in circular measure?

Watch Video Solution

https://dl.doubtnut.com/l/_RBJx1KsOwfOy
https://dl.doubtnut.com/l/_lBDtGcKqYSrU
https://dl.doubtnut.com/l/_5QuQFV3KZFnK


15. A circular wire of radius 6 cm is cut & bent so as

to form an arc of a cricle of radius 48 cm. Find the

angle in degrees subtended by the arc at the centre.

Watch Video Solution

16. Convert  into radian measure.

Watch Video Solution

40∘ , 20'

17. Convert 6 radians into degree measure.

Watch Video Solution

https://dl.doubtnut.com/l/_5QuQFV3KZFnK
https://dl.doubtnut.com/l/_bwSkietlS6wY
https://dl.doubtnut.com/l/_ULJPvE7opEbs
https://dl.doubtnut.com/l/_U8svmvin0yCu


18. Find the radius of the circle in which a central

angle of  intercepts an arc of length 37.4 cm (use

)

Watch Video Solution

60∘

π =
22

7

19. The minute hand of a watch is 1.5 cm long. How

far does its tip move in 40 minutes?

Watch Video Solution

https://dl.doubtnut.com/l/_U8svmvin0yCu
https://dl.doubtnut.com/l/_FkYfqVsHMJYW
https://dl.doubtnut.com/l/_DMLr2jp7yRRe


20. If the arc of the same lengths in two circles

subtend angles  and  at the centre, find the

ratio of their radii.

Watch Video Solution

65∘ 110∘

21. A wheel makes 360 revolutions in one minute.

Through how many radians does it turn in one

second?

Watch Video Solution

https://dl.doubtnut.com/l/_GvGy6MS23gp5
https://dl.doubtnut.com/l/_y8rfzIWmqUmR


22. Find the degree measure of the angle subtended

at the centre of a circle of radius 100 cm by an arc of

length 22 cm ( Use )

Watch Video Solution

π =
22

7

23. In a circle of diameter 40 cm, the length of a

chord is 20 cm. Find the length of minor arc of the

chord.

Watch Video Solution

https://dl.doubtnut.com/l/_Gj0K4pKzROEq
https://dl.doubtnut.com/l/_wTA5syWJNkIM


24. If in two cirlces arcs of the same length subtend

angles  and  at the centre, find the ratio of

their radii.

Watch Video Solution

60∘ 75∘

25. If  find  & 

Watch Video Solution

sin A =
1

2
sin 2A cos 2A

26. If , find  &  is acute.

Watch Video Solution

sin A =
3

5
sin 3A cos 3A, A

https://dl.doubtnut.com/l/_0lLYPSIikXED
https://dl.doubtnut.com/l/_uyY6E4ORDFu6
https://dl.doubtnut.com/l/_8BXTuqg01xzM


27. A wire of length 10 cm is bent so as to form an

arc of a circle of radius 4 cm. What is the angle at

the centre in circular measure?

Watch Video Solution

28. A circular wire of radius 6 cm is cut & bent so as

to form an arc of a cricle of radius 48 cm. Find the

angle in degrees subtended by the arc at the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_8BXTuqg01xzM
https://dl.doubtnut.com/l/_hrnyP0GAsd3n
https://dl.doubtnut.com/l/_xgyD5Y59Gl6q


29. Convert  into radian measure.

Watch Video Solution

40∘ , 20'

30. Convert 6 radians into degree measure.

Watch Video Solution

31. Find the radius of the circle in which a central

angle of  intercepts an arc of length 37.4 cm (use

)

Watch Video Solution

60∘

π =
22

7

https://dl.doubtnut.com/l/_r3TKjGHgaynq
https://dl.doubtnut.com/l/_BsnyaUY2lXKo
https://dl.doubtnut.com/l/_sP8zZhWTbk5C


32. The minute hand of a watch is 1.5 cm long. How

far foes its tip move in 40 minutes?

Watch Video Solution

33. If the arc of the same lengths in two circles

subtend angles  and  at the centre, find the

ratio of their radii.

Watch Video Solution

65∘ 110∘

https://dl.doubtnut.com/l/_sP8zZhWTbk5C
https://dl.doubtnut.com/l/_PfZrsQoYg5th
https://dl.doubtnut.com/l/_pIf3DiuTDOnz


34. A wheel makes 360 revolutions in one minute.

Through how many radians does it turn in one

second?

Watch Video Solution

35. Find the degree measure of the angle subtended

at the centre of a circle of radius 100 cm by an arc of

length 22 cm ( Use )

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_gUYIyVkhLSQF
https://dl.doubtnut.com/l/_nrRWG9qWzjiu


36. In a circle of diameter 40 cm, the length of a

chord is 20 cm. Find the length of minor arc of the

chord.

Watch Video Solution

37. If in two cirlces arcs of the same length subtend

angles  and  at the centre, find the ratio of

their radii.

Watch Video Solution

60∘ 75∘

https://dl.doubtnut.com/l/_PFVoNmRyLCGP
https://dl.doubtnut.com/l/_7mR47Fn1sMvr


Prove The Following

38. If  find  & 

Watch Video Solution

sin A =
1

2
sin 2A cos 2A

39. If , find  &  is acute.

Watch Video Solution

sin A =
3

5
sin 3A cos 3A, A

1. 

Watch Video Solution

cos θ. cos ecθ = cot θ

https://dl.doubtnut.com/l/_z5HL02E0wfzJ
https://dl.doubtnut.com/l/_6ecZHlhpGF8z
https://dl.doubtnut.com/l/_GweQT3wrpuk2


2. 

Watch Video Solution

(1 − sin(2)A)(1 + tan2 A) = 1

3. 

Watch Video Solution

+ = 1
sin θ

cos ecθ

cos θ

sec θ

4. 

Watch Video Solution

tan A. sin A + cos A = sec A

https://dl.doubtnut.com/l/_GweQT3wrpuk2
https://dl.doubtnut.com/l/_q1Btfet1Wga3
https://dl.doubtnut.com/l/_XHqRllARSPTB
https://dl.doubtnut.com/l/_pejG7R0BS2kL
https://dl.doubtnut.com/l/_g9uMfPMziZio


5. 

Watch Video Solution

tan A + cot A = sec A. cos ecA

6. 

Watch Video Solution

√ = sec A − tan A
1 − sin A

1 + sin A

7. 

Watch Video Solution

cos4 A − sin4 A = 2 cos2 A − 1

https://dl.doubtnut.com/l/_g9uMfPMziZio
https://dl.doubtnut.com/l/_gu0gHUKhQbzh
https://dl.doubtnut.com/l/_xMhx7QFMVscS


8. 

Watch Video Solution

sin6 θ + cos6 θ = 1 − 3 sin2 θ cos2 θ

9. 

Watch Video Solution

=
1 − cos θ

sin θ

sin θ

1 + cos θ

10. 

Watch Video Solution

− = cos θ − sin θ
sin2 θ

1 − cos θ

cos2 θ

1 − sin θ

https://dl.doubtnut.com/l/_DO2H68L5wwR3
https://dl.doubtnut.com/l/_ekWgv5KwNI6y
https://dl.doubtnut.com/l/_GEOHoy9kcYxe


11. If  Prove that 

Watch Video Solution

x = r cos θ, y = r sin θ

x2 + y2 = r2

12. 

Watch Video Solution

= 2 sin x
sin x − sin 3x

sin2 x − cos2 x

13. 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

https://dl.doubtnut.com/l/_bwoiejBtXIic
https://dl.doubtnut.com/l/_jI7lrzDi3apx
https://dl.doubtnut.com/l/_GG3Vl1UQiqif
https://dl.doubtnut.com/l/_VlrpLGjyZKbp


14. 

Watch Video Solution

cot x cot 2x − cot 2x cot 3x − cot 3x cot x = 1

15. 

Watch Video Solution

tan 4x =
4 tan x(1 − tan2 x)

1 − 6 tan2 x + tan4 x

16. Prove that : 

Watch Video Solution

tan 3x =
3 tan x − tan3 x

1 − 3 tan2 x

https://dl.doubtnut.com/l/_VlrpLGjyZKbp
https://dl.doubtnut.com/l/_aMGtItwrwoZB
https://dl.doubtnut.com/l/_3DWaZtIa4OTN


17. Prove that:

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

18. 

Watch Video Solution

=
tan θ + sec θ − 1

tan θ − sec θ + 1

1 + sin θ

cos θ

19. If , Prove that 

Watch Video Solution

2 sin2 θ + 5 cos θ = 4 cos θ = 1/2

https://dl.doubtnut.com/l/_utumJMwpsNgm
https://dl.doubtnut.com/l/_8w1GWxLyxolJ
https://dl.doubtnut.com/l/_CRYcI6d6AWVR
https://dl.doubtnut.com/l/_KCJXOzBEOKrp


20. If  and  is acute find 

Watch Video Solution

sec θ = 13/5 θ

2 sin θ − 3 cos θ

4 sin θ − 9 cos θ

21. Show that :

Watch Video Solution

tan 3x tan 2x tan x = tan 3x − tan 2x − tan x

22. Prove that :

Watch Video Solution

cos( + x) + cos( − x) = √2 cos x
π

4

π

4

https://dl.doubtnut.com/l/_KCJXOzBEOKrp
https://dl.doubtnut.com/l/_TLFZpRE5h0jx
https://dl.doubtnut.com/l/_nwk7shPAjTlz


23. Prove that 

Watch Video Solution

= = tan x
sin 5x − 2 sin 3x + sin x

cos 5x − cos x

24. 

Watch Video Solution

sin(A + B). sin(A − B) = sin2 A − sin2 B

25. 

Watch Video Solution

cos(A + B). cos(A − B) = cos2 A − sin2 B

https://dl.doubtnut.com/l/_nwk7shPAjTlz
https://dl.doubtnut.com/l/_6o9WwlJh2sEP
https://dl.doubtnut.com/l/_khprtj1MnP7H
https://dl.doubtnut.com/l/_JezkV7DEgTkG
https://dl.doubtnut.com/l/_6E2CKDsgkpNQ


26. 

Watch Video Solution

tan( + A) =
π

4

1 + tan A

1 − tan A

27. 

Watch Video Solution

tan( − A) =
π

4

1 − tan A

1 + tan A

28. 

Watch Video Solution

cot(A − B) =
cot A. cot B + 1

cot B − cot A

https://dl.doubtnut.com/l/_6E2CKDsgkpNQ
https://dl.doubtnut.com/l/_Srf53RXrDzpY
https://dl.doubtnut.com/l/_xvdkGEnBhpg0


29. 

Watch Video Solution

cot(A − B) =
cot A. cot B + 1

cot B − cot A

30. If  & A,B are acute,

find 

Watch Video Solution

sin A = 3/5, cos B = 5/13

sin(A + B)

31. If  and 

 , Find 

Watch Video Solution

sin A = , cos B =
4
5

−12

13

< A, B < π
π

2
sin(A − B)

https://dl.doubtnut.com/l/_PhRzCshbrABf
https://dl.doubtnut.com/l/_pDA4CFCFJXV5
https://dl.doubtnut.com/l/_sdLe5F2EdGDe


32. Prove that

Watch Video Solution

cos(120∘ + A) + cos(120∘ − A) = − cos A

33. 

Watch Video Solution

+ = cos A
cos 2A

sec A

sin 2A

cos ecA

34. If  find tanB.

Watch Video Solution

tanA = , tan(A + B) =
1

2

1

3

https://dl.doubtnut.com/l/_sdLe5F2EdGDe
https://dl.doubtnut.com/l/_Db31NQ78MS16
https://dl.doubtnut.com/l/_X7NM4TR9S7th
https://dl.doubtnut.com/l/_ZbE9V0NLeUDu


35. If  Prove that

Watch Video Solution

tan A = , tan B = ,
1

2

1

3

A + B =
π

4

36. 

Watch Video Solution

= cot θ
sin 2θ

1 − cos 2θ

37. 

Watch Video Solution

= cot θ
1 + cos 2θ

sin 2θ

https://dl.doubtnut.com/l/_bawsAFzZ2sIY
https://dl.doubtnut.com/l/_JbNp6jACaiSp
https://dl.doubtnut.com/l/_nNWYVtprQYj6
https://dl.doubtnut.com/l/_PFUflpiqKvwZ


38. 

Watch Video Solution

cos6 A + sin6 A = 1 − sin2(2A)
3

4

39. 

Watch Video Solution

= tan A
1 − cos 2A + sin 2A

1 + cos 2A + sin 2A

40. 

Watch Video Solution

=
sec 8A − 1

sec 4A − 1

tan 8A

tan 2A

https://dl.doubtnut.com/l/_PFUflpiqKvwZ
https://dl.doubtnut.com/l/_U2PFvI5aW3ds
https://dl.doubtnut.com/l/_6rmrzfGfKL7j


41. 

Watch Video Solution

− = 2
sin 3A

sin A

cos 3A

cos A

42. Prove that  and hence find 

Watch Video Solution

= sin θ
sin 3θ

1 + 2 cos 2θ

sin 15∘

43. 

Watch Video Solution

cos 4x = 1 − 8 sin2 x cos2 x

https://dl.doubtnut.com/l/_1EKJWgkKWCc6
https://dl.doubtnut.com/l/_EXLknXaDBTtI
https://dl.doubtnut.com/l/_FnQEtMAmFW46
https://dl.doubtnut.com/l/_PcxUOmFzUmHw


44. Prove that : 

Watch Video Solution

sin 3x = 3 sin x − 4 sin3 x

45. Prove that: 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

46. 

Watch Video Solution

cos 130∘ + cos 110∘ + cos 10∘ = 0

https://dl.doubtnut.com/l/_PcxUOmFzUmHw
https://dl.doubtnut.com/l/_E09dKaEPy8pz
https://dl.doubtnut.com/l/_ZBZEYl4f1Y91


47. 

Watch Video Solution

= tan( ). cot( )
sin A − sin B

sin A + sin B

A − B

2

A + B

2

48. 

Watch Video Solution

= √3
cos 75∘ + cos 15∘

sin 75∘ − sin 15∘

49. 

Watch Video Solution

=
sin 6A + sin 2A + 2 sin 4A

sin 7A + sin 3A + 2 sin 5A

sin 4A

sin 5A

https://dl.doubtnut.com/l/_oo67xHIksg1y
https://dl.doubtnut.com/l/_00tTuFFwNkkf
https://dl.doubtnut.com/l/_YehthkQkqFIn


50. 

Watch Video Solution

cos A + cos(120∘ − A) + cos(120∘ + A) = 0

51. 

Watch Video Solution

cos2 θ + cos2(60∘ + θ) + cos2(60∘ − θ) =
3

2

52. 

Watch Video Solution

4 sin A. sin(60∘ + A)sin(60∘ − A) = sin 3A

https://dl.doubtnut.com/l/_MF4YGHGIdNK8
https://dl.doubtnut.com/l/_kyKmyPLgKa6e
https://dl.doubtnut.com/l/_ijrVRb3cA3Ar


53. If , Prove that 


Watch Video Solution

A + B + C = π

tan A + tan B + tan C = tan A. tan B. tan C

54. 

Watch Video Solution

cos 20∘ . cos 40∘ . cos 60∘ . cos 80∘ =
1

16

55. If  prove that 

View Text Solution

A + B + C = π

tan tan + tan tan + tan tan = 1
A

2
B

2
B

2

C

2

C

2

A

2

https://dl.doubtnut.com/l/_9NDq2V3v5UHf
https://dl.doubtnut.com/l/_9Hziofiv4scy
https://dl.doubtnut.com/l/_y8IJoL2fK1la


56. If , prove that : 

Watch Video Solution

A + B + C = π

sin 2A + sin 2B + sin 2C = 4 sin A sin B sin C

57. Prove that:

if A + B +C =

Watch Video Solution

sin A + sin B + sin C = 4 cos( )cos( )cos( )
A

2
B

2

C

2

180∘

https://dl.doubtnut.com/l/_y8IJoL2fK1la
https://dl.doubtnut.com/l/_Tvcv3bx6WT04
https://dl.doubtnut.com/l/_yxkIEl0cxcyt


58. 

Watch Video Solution

cos2 A + cos2 B − cos2 C = 1 − 2 sin A sin B cos C

59. In , prove that 

View Text Solution

ΔABC =
sin(B − C)

sin(B + C)

b2 − c2

a2

60. 

Watch Video Solution

= .
a2 − b2

c2 − a2

c

b

sin(A − B)

sin(C − A)

https://dl.doubtnut.com/l/_aSQvGC76uS8x
https://dl.doubtnut.com/l/_qvby6fr2YKTS
https://dl.doubtnut.com/l/_0giOTGAUi3de
https://dl.doubtnut.com/l/_YX8zBbAluMmJ


61. 

Watch Video Solution

− = −
cos 2A

a2

cos 2B

b2

1

a2

1

b2

62. 

Watch Video Solution

Σa sin(B − C) = 0

63. If  then prove that  is

isosceles.

Watch Video Solution

a sin a = b sin B ΔABC

https://dl.doubtnut.com/l/_YX8zBbAluMmJ
https://dl.doubtnut.com/l/_Y3twkABjXaWg
https://dl.doubtnut.com/l/_7hCQNZEnAqJr
https://dl.doubtnut.com/l/_VJJtdEOzYsu9


64. If a  then prove that  is

eitherisosceles or right angled.

Watch Video Solution

cos A = b cos B ΔABC

65. In  if  Prove

that  is equilateral.

Watch Video Solution

ΔABC = =
cos A

a

cos B

b

cos C

c

ΔABC

66. Prove that

Watch Video Solution

a2 + b2 + c2 = 2(ab cos C + bc cos A + ca cos B)

https://dl.doubtnut.com/l/_VJJtdEOzYsu9
https://dl.doubtnut.com/l/_hjO1xtDfYMZw
https://dl.doubtnut.com/l/_PjHviwhZh8Jv


67. 

Watch Video Solution

+ + =
cos A

a

cos B

b

cos C

c

a2 + b2 + c2

2abc

68. 

Watch Video Solution

cos θ. cos ecθ = cot θ

69. 

Watch Video Solution

(1 − sin2 A)(1 + tan2 A) = 1

https://dl.doubtnut.com/l/_PjHviwhZh8Jv
https://dl.doubtnut.com/l/_yvvI2fsPySgA
https://dl.doubtnut.com/l/_NEiIqcIHRxkL
https://dl.doubtnut.com/l/_CkGA2XNIdfNR
https://dl.doubtnut.com/l/_IOwhLCOa3JGG


70. 

Watch Video Solution

+ = 1
sin θ

cos ecθ

cos θ

sec θ

71. 

Watch Video Solution

tan A. sin A + cos A = sec A

72. 

Watch Video Solution

tan A + cot A = sec A. cos ecA

https://dl.doubtnut.com/l/_IOwhLCOa3JGG
https://dl.doubtnut.com/l/_cGekhzz9t5IC
https://dl.doubtnut.com/l/_Z622UJjEHDux


73. 

Watch Video Solution

√ = sec A − tan A
1 − sin A

1 + sin A

74. 

Watch Video Solution

cos4 A − sin4 A = 2 cos2 A − 1

75. 

Watch Video Solution

sin6 θ = cos6 θ = 1 − 3 sin2 θ cos2 θ

https://dl.doubtnut.com/l/_l2Ro0WE2TN6f
https://dl.doubtnut.com/l/_kALqiZGp9ox7
https://dl.doubtnut.com/l/_hDk0BodfRiWk


76. 

Watch Video Solution

=
1 − cos θ

sin θ

sin θ

1 + cos θ

77. 

Watch Video Solution

− = cos θ − sin θ
sin2 θ

1 − cos θ

cos2 θ

1 − sin θ

78. If  Prove that 

Watch Video Solution

x = 4 cos θ, y = r sin θ

x2 + y2 = r2

https://dl.doubtnut.com/l/_EbC2K0veU0qb
https://dl.doubtnut.com/l/_3I22e1UAoPh3
https://dl.doubtnut.com/l/_YMYX8PPor16H
https://dl.doubtnut.com/l/_5QyA6DAo9a8c


79. 

Watch Video Solution

= 2 sin x
sin x − sin 3x

sin2 x − cos2 x

80. 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

81. 

Watch Video Solution

cot x cot 2x − cot 2x cot 3x − cot 3x cot x = 1

https://dl.doubtnut.com/l/_5QyA6DAo9a8c
https://dl.doubtnut.com/l/_tj62QH38iIHv
https://dl.doubtnut.com/l/_j2YBpPdBg32W


82. 

Watch Video Solution

tan 4x =
4 tan x(1 − tan2 x)

1 − 6 tan2 x + tan4 x

83. Prove that : 

Watch Video Solution

tan 3x =
3 tan x − tan3 x

1 − 3 tan2 x

84. 

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

https://dl.doubtnut.com/l/_rGRKzQrzUnGD
https://dl.doubtnut.com/l/_AYhyY4WeYvj1
https://dl.doubtnut.com/l/_IIsMLMqDQVc8


85. 

Watch Video Solution

=
tan θ + sec θ − 1

tan θ − sec θ + 1

1 + sin θ

cos θ

86. If , Prove that 

Watch Video Solution

2 sin2 θ + 5 cos θ = 4 cos θ = 1/2

87. If  and  is acute find 

Watch Video Solution

sec θ = 13/5 θ

2 sin θ − 3 cos θ

4 sin θ − 9 cos θ

https://dl.doubtnut.com/l/_a9miZFPvDBsx
https://dl.doubtnut.com/l/_psCVopae1Lhr
https://dl.doubtnut.com/l/_F1fZ0EZvTvWW
https://dl.doubtnut.com/l/_VAF8iQ43Bs4G


88. Show that :

Watch Video Solution

tan 3x tan 2x tan x = tan 3x − tan 2 − x − tan x

89. Prove that :

Watch Video Solution

cos( + x) + cos( − x) = √2 cos x
π

4

π

4

90. Prove that

Watch Video Solution

= = tan x
sin 5x − 2 sin 3x + sin x

cos 5x − cos x

https://dl.doubtnut.com/l/_VAF8iQ43Bs4G
https://dl.doubtnut.com/l/_Sgp4yl6pa7BO
https://dl.doubtnut.com/l/_mzjkg3z9hsT9


91. 

Watch Video Solution

sin(A + B). sin(A − B) = sin2 A − sin2 B

92. 

Watch Video Solution

cos(A + B). cos(A − B) = cos2 A − sin2 B

93. 

Watch Video Solution

tan( + A) =
π

4

1 + tan A

1 − tan A

https://dl.doubtnut.com/l/_mzjkg3z9hsT9
https://dl.doubtnut.com/l/_Kw2jj0C3LY0S
https://dl.doubtnut.com/l/_N2j3Y2s3f0RG
https://dl.doubtnut.com/l/_FFq1V8JYlCxS
https://dl.doubtnut.com/l/_J3Xwt0PofoqN


94. 

Watch Video Solution

tan( − A) =
π

4

1 − tan A

1 + tan A

95. 

Watch Video Solution

cot(A + B) =
cot A. cot B − 1

cot B + cot A

96. 

Watch Video Solution

cot(A − B) =
cot A. cot B + 1

cot B − cot A

https://dl.doubtnut.com/l/_J3Xwt0PofoqN
https://dl.doubtnut.com/l/_KIEKxbKNNkzJ
https://dl.doubtnut.com/l/_D5xO6Nue5wmZ


97. If  & A,B are acute,

find 

Watch Video Solution

sin A = 3/5, cos B = 5/13

sin(A + B)

98. If  and 

 , Find 

Watch Video Solution

sin A = , cos B =
4
5

−12

13

< A, B < π
π

2
sin(A − B)

99. Prove that

W h Vid S l i

cos(120∘ + A) + cos(120∘ − A) = − cos A

https://dl.doubtnut.com/l/_bZ09HZ39rvqN
https://dl.doubtnut.com/l/_v0ulBlPODVGo
https://dl.doubtnut.com/l/_Nw8LJ58i6tOw


Watch Video Solution

100. 

Watch Video Solution

+ = cos A
cos 2A

sec A

sin 2A

cos ecA

101. If  find tanB.

Watch Video Solution

tanA = , tan(A + B) =
1

2

1

3

102. If  Prove that

Watch Video Solution

tan A = , tan B = ,
1

2

1

3

A + B =
π

4

https://dl.doubtnut.com/l/_Nw8LJ58i6tOw
https://dl.doubtnut.com/l/_5jlJfxeLePAn
https://dl.doubtnut.com/l/_wgHfIWZTxpcE
https://dl.doubtnut.com/l/_8Kr8c5oiJ9Q0


103. 

Watch Video Solution

= cot θ
sin 2θ

1 − cos 2θ

104. 

Watch Video Solution

= cot θ
1 + cos 2θ

sin 2θ

105. 

Watch Video Solution

cos6 A + sin6 A = 1 − sin2(2A)
3

4

https://dl.doubtnut.com/l/_8Kr8c5oiJ9Q0
https://dl.doubtnut.com/l/_IZrj2NQNKQ1L
https://dl.doubtnut.com/l/_dqBI7NVrk72Q
https://dl.doubtnut.com/l/_nF7FLfLGbRCh
https://dl.doubtnut.com/l/_7lvtcrn5rB6N


106. 

Watch Video Solution

= tan A
1 − cos 2A + sin 2A

1 + cos 2A + sin 2A

107. 

Watch Video Solution

=
sec 8A − 1

sec 4A − 1

tan 8A

tan 2A

108. 

Watch Video Solution

− = 2
sin 3A

sin A

cos 3A

cos A

https://dl.doubtnut.com/l/_7lvtcrn5rB6N
https://dl.doubtnut.com/l/_hkDZODmLzPCc
https://dl.doubtnut.com/l/_6rEMGMQl19At


109. Prove that  and hence find 

Watch Video Solution

= sin θ
sin 3θ

1 + 2 cos 2θ

sin 15∘

110. 

Watch Video Solution

cos 4x = 1 − 8 sin2 x cos2 x

111. Prove that : 

Watch Video Solution

sin 3x = 3 sin x − 4 sin3 x

https://dl.doubtnut.com/l/_awlI7vQk3w37
https://dl.doubtnut.com/l/_zCbxzh8W7thd
https://dl.doubtnut.com/l/_UjPP8gPWDwp3
https://dl.doubtnut.com/l/_JGthVfA3epYD


112. Prove that: 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

113. 

Watch Video Solution

cos 130∘ + cos 110∘ + cos 10∘ = 0

114. 

Watch Video Solution

= tan( ). cot( )
sin A − sin B

sin A + sin B

A − B

2

A + B

2

https://dl.doubtnut.com/l/_JGthVfA3epYD
https://dl.doubtnut.com/l/_abz8Ci2S2nJh
https://dl.doubtnut.com/l/_LFmHBAgAvYeW
https://dl.doubtnut.com/l/_LAkdxrdn3yAi


115. 

Watch Video Solution

= √3
cos 75∘ + cos 15∘

sin 75∘ − sin 15∘

116. 

Watch Video Solution

=
sin 6A + sin 2A + 2 sin 4A

sin 7A + sin 3A + 2 sin 5A

sin 4A

sin 5A

117. 

Watch Video Solution

cos A + cos(120∘ − A) + cos(120∘ + A) = 0

118. cos2 θ + cos2(60∘ + θ) + cos2(60∘ − θ) =
3

2

https://dl.doubtnut.com/l/_LAkdxrdn3yAi
https://dl.doubtnut.com/l/_uo8enPoP1UWX
https://dl.doubtnut.com/l/_uS60EYSNiank
https://dl.doubtnut.com/l/_2L8SA08eLUKF


Watch Video Solution

119. 

Watch Video Solution

4 sin A. sin(60∘ + A)sin(60∘ − A) = sin 3A

120. If , Prove that 


Watch Video Solution

A + B + C = π

tan A + tan B + tan C = tan A. tan B. tan C

121. cos 20∘ . cos 40∘ . cos 60∘ . cos 80∘ =
1

16

https://dl.doubtnut.com/l/_2L8SA08eLUKF
https://dl.doubtnut.com/l/_7lkw96ramQDl
https://dl.doubtnut.com/l/_sVAb5YXsKDKL
https://dl.doubtnut.com/l/_BN1F7DiN7W2v


Watch Video Solution

122. If  prove that 

Watch Video Solution

A + B + C = π

tan tan + tan tan + tan tan = 1
A

2
B

2
B

2

C

2

C

2

A

2

123. If , Prove that 

Watch Video Solution

A + B + C = π

sin 2A + sin 2B + sin 2C = 4 sin A. sin B. sin C

https://dl.doubtnut.com/l/_BN1F7DiN7W2v
https://dl.doubtnut.com/l/_tcIFqrUFRZM3
https://dl.doubtnut.com/l/_FAmuyKDBZWzq


124. 

Watch Video Solution

sin A + sin B + sin C = 4 cos( )cos( )cos( )
A

2
B

2

C

2

125. 

Watch Video Solution

cos2 A + cos2 B − cos2 C = 1 − 2 sin A sin B cos C

126. In , prove that 

Watch Video Solution

ΔABC =
sin(B − C)

sin(B + C)

b2 − c2

a2

https://dl.doubtnut.com/l/_lHfW1mzLYzAP
https://dl.doubtnut.com/l/_2oqW2Ick1QZ7
https://dl.doubtnut.com/l/_aHB3IK34tMVO


127. 

Watch Video Solution

= .
a2 − b2

c2 − a2

c

b

sin(A − B)

sin(C − A)

128. 

Watch Video Solution

− = −
cos 2A

a2

cos 2B

b2

1

a2

1

b2

129. 

Watch Video Solution

Σa sin(B − C) = 0

https://dl.doubtnut.com/l/_aHB3IK34tMVO
https://dl.doubtnut.com/l/_ZptavaiLr8yp
https://dl.doubtnut.com/l/_5vUmwqiQ84V2
https://dl.doubtnut.com/l/_0KRD0FRE4luz
https://dl.doubtnut.com/l/_dbpv5b3TdXPQ


130. If  then prove that  is

isosceles.

Watch Video Solution

a sin a = b sin B ΔABC

131. If a  then prove that  is

either isosceles or right angled.

Watch Video Solution

cos A = b cos B ΔABC

132. In  if  Prove

that  is equilateral.

Watch Video Solution

ΔABC = =
cos A

a

cos B

b

cos C

c

ΔABC

https://dl.doubtnut.com/l/_dbpv5b3TdXPQ
https://dl.doubtnut.com/l/_zt1bczziriBC
https://dl.doubtnut.com/l/_A0OaDaKtxiuK


133. Prove that

Watch Video Solution

a2 + b2 + c2 = 2(ab cos C + bc cos A + ca cos B)

134. 

Watch Video Solution

+ + =
cos A

a

cos B

b

cos C

c

a2 + b2 + c2

2abc

135. 

Watch Video Solution

cos θ. cos ecθ = cot θ

https://dl.doubtnut.com/l/_A0OaDaKtxiuK
https://dl.doubtnut.com/l/_g1jeh3kCTtjK
https://dl.doubtnut.com/l/_03UtuW1ZEdw2
https://dl.doubtnut.com/l/_l9i2Axx3ARfJ


136. 

Watch Video Solution

(1 − sin(2)A)(1 + tan2 A) = 1

137. 

Watch Video Solution

+ = 1
sin θ

cos ecθ

cos θ

sec θ

138. 

Watch Video Solution

tan A. sin A + cos A = sec A

https://dl.doubtnut.com/l/_l9i2Axx3ARfJ
https://dl.doubtnut.com/l/_3juHICALYmuG
https://dl.doubtnut.com/l/_POqprp1XlVDQ
https://dl.doubtnut.com/l/_4RRXuVu9A5XJ
https://dl.doubtnut.com/l/_EZCNMT3vZsHL


139. 

Watch Video Solution

tan A + cot A = sec A. cos ecA

140. Prove that: 

Watch Video Solution

√ = sec A − tan A
1 − sin A

1 + sin A

141. 

Watch Video Solution

cos4 A − sin4 A = 2 cos2 A − 1

https://dl.doubtnut.com/l/_EZCNMT3vZsHL
https://dl.doubtnut.com/l/_BJcM1TwquBjv
https://dl.doubtnut.com/l/_hXRthY656EqS


142. Show that: 

Watch Video Solution

sin6 θ + cos6 θ = 1 − 3 sin2 θ cos2 θ

143. 

Watch Video Solution

=
1 − cos θ

sin θ

sin θ

1 + cos θ

144. 

Watch Video Solution

− = cos θ − sin θ
sin2 θ

1 − cos θ

cos2 θ

1 − sin θ

https://dl.doubtnut.com/l/_15RNQn52NbVc
https://dl.doubtnut.com/l/_9NNIDIS5v18X
https://dl.doubtnut.com/l/_AEhQuQFwWZDf


145. If  Prove that 

Watch Video Solution

x = 4 cos θ, y = r sin θ

x2 + y2 = r2

146. Prove that: 

Watch Video Solution

= 2 sin x
sin x − sin 3x

sin2 x − cos2 x

147. Prove that: 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

https://dl.doubtnut.com/l/_x8N4lRakEr2K
https://dl.doubtnut.com/l/_XVYnNn18Hgpo
https://dl.doubtnut.com/l/_Bi0lmQql1Wsr
https://dl.doubtnut.com/l/_6UtslEoE3UUc


148. 

Watch Video Solution

cot x cot 2x − cot 2x cot 3x − cot 3x cot x = 1

149. 

Watch Video Solution

tan 4x =
4 tan x(1 − tan2 x)

1 − 6 tan2 x + tan4 x

150. Prove that : 

Watch Video Solution

tan 3x =
3 tan x − tan3 x

1 − 3 tan2 x

https://dl.doubtnut.com/l/_6UtslEoE3UUc
https://dl.doubtnut.com/l/_n5RZN3h5z0Iv
https://dl.doubtnut.com/l/_lMcdKGAYdUxe


151. Prove that:

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

152. Prove that: 

Watch Video Solution

=
tan θ + sec θ − 1

tan θ − sec θ + 1

1 + sin θ

cos θ

153. If , Prove that 

Watch Video Solution

2 sin2 θ + 5 cos θ = 4 cos θ = 1/2

https://dl.doubtnut.com/l/_x4dkcfmTFs1c
https://dl.doubtnut.com/l/_id4epIehEKhx
https://dl.doubtnut.com/l/_lPNkOpGYGLT1
https://dl.doubtnut.com/l/_VnS12fJn6cft


154. If  and  is acute find 

Watch Video Solution

sec θ = 13/5 θ

2 sin θ − 3 cos θ

4 sin θ − 9 cos θ

155. Show that :

Watch Video Solution

tan 3x tan 2x tan x = tan 3x − tan 2 − x − tan x

156. Prove that :

Watch Video Solution

cos( + x) + cos( − x) = √2 cos x
π

4

π

4

https://dl.doubtnut.com/l/_VnS12fJn6cft
https://dl.doubtnut.com/l/_VGgdK0Xmwtp9
https://dl.doubtnut.com/l/_hIiTqlAEQZaM


157. Prove that 

Watch Video Solution

: = tan x
sin 5x − 2 sin 3x + sin x

cos 5x − cos x

158. 

Watch Video Solution

sin(A + B). sin(A − B) = sin2 A − sin2 B

159. 

Watch Video Solution

cos(A + B). cos(A − B) = cos2 A − sin2 B

https://dl.doubtnut.com/l/_hIiTqlAEQZaM
https://dl.doubtnut.com/l/_hnlwJ1VKkfo8
https://dl.doubtnut.com/l/_1dexf2fxOa0o
https://dl.doubtnut.com/l/_sb82vBcwph7H
https://dl.doubtnut.com/l/_NgYZtoTXdbkL


160. 

Watch Video Solution

tan( + A) =
π

4

1 + tan A

1 − tan A

161. 

Watch Video Solution

tan( − A) =
π

4

1 − tan A

1 + tan A

162. 

Watch Video Solution

cot(A + B) =
cot A. cot B − 1

cot B + cot A

https://dl.doubtnut.com/l/_NgYZtoTXdbkL
https://dl.doubtnut.com/l/_Poy0FUL9c1OQ
https://dl.doubtnut.com/l/_SGH4ItPSgK3I


163. 

Watch Video Solution

cot(A − B) =
cot A. cot B + 1

cot B − cot A

164. If  & A,B are acute,

find 

Watch Video Solution

sin A = 3/5, cos B = 5/13

sin(A + B)

165. If  and 

 , Find 

Watch Video Solution

sin A = , cos B =
4
5

−12

13

< A, B < π
π

2
sin(A − B)

https://dl.doubtnut.com/l/_iZXlWeO7ItYL
https://dl.doubtnut.com/l/_ZRLx0PpEefaC
https://dl.doubtnut.com/l/_MmZmJa9WNvr5


166. Prove that

Watch Video Solution

cos(120∘ + A) + cos(120∘ − A) = − cos A

167. 

Watch Video Solution

+ = cos A
cos 2A

sec A

sin 2A

cos ecA

168. If  find tanB.

Watch Video Solution

tanA = , tan(A + B) =
1

2

1

3

https://dl.doubtnut.com/l/_MmZmJa9WNvr5
https://dl.doubtnut.com/l/_HbtpZ3c7tQah
https://dl.doubtnut.com/l/_E93htcYEUgZk
https://dl.doubtnut.com/l/_7czOHhdf3wP7


169. If  Prove that

Watch Video Solution

tan A = , tan B = ,
1

2

1

3

A + B =
π

4

170. 

Watch Video Solution

= cot θ
sin 2θ

1 − cos 2θ

171. 

Watch Video Solution

= cot θ
1 + cos 2θ

sin 2θ

https://dl.doubtnut.com/l/_rDCOG8QFM5fM
https://dl.doubtnut.com/l/_inx9XMeaqUgh
https://dl.doubtnut.com/l/_MPSOqS0nPTga
https://dl.doubtnut.com/l/_XWL85XWgKZgJ


172. Show that: 

Watch Video Solution

cos6 A + sin6 A = 1 − sin2(2A)
3

4

173. 

Watch Video Solution

= tan A
1 − cos 2A + sin 2A

1 + cos 2A + sin 2A

174. 

Watch Video Solution

=
sec 8A − 1

sec 4A − 1

tan 8A

tan 2A

https://dl.doubtnut.com/l/_XWL85XWgKZgJ
https://dl.doubtnut.com/l/_3HKL6dmhSO6d
https://dl.doubtnut.com/l/_xxk1bnrvsIWF


175. 

Watch Video Solution

− = 2
sin 3A

sin A

cos 3A

cos A

176. Prove that  and hence find 

Watch Video Solution

= sin θ
sin 3θ

1 + 2 cos 2θ

sin 15∘

177. 

Watch Video Solution

cos 4x = 1 − 8 sin2 x cos2 x

https://dl.doubtnut.com/l/_lXdrO8KIAWyF
https://dl.doubtnut.com/l/_jCIyj1Du3YKI
https://dl.doubtnut.com/l/_7pOhIQpDtdYE
https://dl.doubtnut.com/l/_yggVl9geeX62


178. Prove that : 

Watch Video Solution

sin 3x = 3 sin x − 4 sin3 x

179. Prove that: 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

180. Show that : 

Watch Video Solution

cos 130∘ + cos 110∘ + cos 10∘ = 0

https://dl.doubtnut.com/l/_yggVl9geeX62
https://dl.doubtnut.com/l/_QeqK1KWP6MKp
https://dl.doubtnut.com/l/_Qbn6yHPJMGlD


181. Show that:

Watch Video Solution

= tan( ). cot( )
sin A − sin B

sin A + sin B

A − B

2

A + B

2

182. 

Watch Video Solution

= √3
cos 75∘ + cos 15∘

sin 75∘ − sin 15∘

183. 

Watch Video Solution

=
sin 6A + sin 2A + 2 sin 4A

sin 7A + sin 3A + 2 sin 5A

sin 4A

sin 5A

https://dl.doubtnut.com/l/_D6OeV722tdXE
https://dl.doubtnut.com/l/_RMNvx5Dpe4l0
https://dl.doubtnut.com/l/_s2CcDIPyCEhJ
https://dl.doubtnut.com/l/_GEohG8TNHPod


184. Prove that :

Watch Video Solution

cos A + cos(120∘ − A) + cos(120∘ + A) = 0

185. 

Watch Video Solution

cos2 θ + cos2(60∘ + θ) + cos2(60∘ − θ) =
3

2

186. Show that:

Watch Video Solution

4 sin A. sin(60∘ + A)sin(60∘ − A) = sin 3A

https://dl.doubtnut.com/l/_GEohG8TNHPod
https://dl.doubtnut.com/l/_r0zeF0ZogELx
https://dl.doubtnut.com/l/_00DlfYgmADTX


187. If , Prove that 


Watch Video Solution

A + B + C = π

tan A + tan B + tan C = tan A. tan B. tan C

188. 

Watch Video Solution

cos 20∘ . cos 40∘ . cos 60∘ . cos 80∘ =
1

16

189. If  prove that 

Watch Video Solution

A + B + C = π

tan tan + tan tan + tan tan = 1
A

2
B

2
B

2

C

2

C

2

A

2

https://dl.doubtnut.com/l/_9BbYqgSenPGt
https://dl.doubtnut.com/l/_FhstESjdS7Ft
https://dl.doubtnut.com/l/_JRUmLvR0Bemg


190. If , prove that 

Watch Video Solution

A + B + C = π

sin 2A + sin 2B + sin 2C = 4 sin A sin B sin C.

191. Prove that:

if A + B +C =

Watch Video Solution

sin A + sin B + sin C = 4 cos( )cos( )cos( )
A

2
B

2

C

2

180∘

https://dl.doubtnut.com/l/_JRUmLvR0Bemg
https://dl.doubtnut.com/l/_6gLIjhOgkKBJ
https://dl.doubtnut.com/l/_ZivJPTOBzNgm


192. 

Watch Video Solution

cos2 A + cos2 B − cos2 C = 1 − 2 sin A sin B cos C

193. In , prove that 

Watch Video Solution

ΔABC =
sin(B − C)

sin(B + C)

b2 − c2

a2

194. 

Watch Video Solution

= .
a2 − b2

c2 − a2

c

b

sin(A − B)

sin(C − A)

https://dl.doubtnut.com/l/_cd40bEBF9XJS
https://dl.doubtnut.com/l/_TCJFgAr66wLi
https://dl.doubtnut.com/l/_avCSo2pteZ1P
https://dl.doubtnut.com/l/_Ez0R84x61uAv


195. 

Watch Video Solution

− = −
cos 2A

a2

cos 2B

b2

1

a2

1

b2

196. 

Watch Video Solution

Σa sin(B − C) = 0

197. If  then prove that  is

isosceles.

Watch Video Solution

a sin a = b sin B ΔABC

https://dl.doubtnut.com/l/_Ez0R84x61uAv
https://dl.doubtnut.com/l/_NJFQcxgNIByj
https://dl.doubtnut.com/l/_4CXfgMlFlzWV
https://dl.doubtnut.com/l/_NPORWlxs7dRG


198. If a  then prove that  is

eitherisosceles or right angled.

Watch Video Solution

cos A = b cos B ΔABC

199. In  if  Prove

that  is equilateral.

Watch Video Solution

ΔABC = =
cos A

a

cos B

b

cos C

c

ΔABC

200. Prove that

Watch Video Solution

a2 + b2 + c2 = 2(ab cos C + bc cos A + ca cos B)

https://dl.doubtnut.com/l/_NPORWlxs7dRG
https://dl.doubtnut.com/l/_WYcGmw0aiUXa
https://dl.doubtnut.com/l/_62GwjKE1CgJb


Find The General Solution Of The Following Equation

201. 

Watch Video Solution

+ + =
cos A

a

cos B

b

cos C

c

a2 + b2 + c2

2abc

1. Solve 

Watch Video Solution

sin 2x − sin 4x + sin 6x = 0

2. Solve 2 cos2 x + 3 sin x = 0

https://dl.doubtnut.com/l/_62GwjKE1CgJb
https://dl.doubtnut.com/l/_G3VWpz76y8YU
https://dl.doubtnut.com/l/_9lmCbCsHJxth
https://dl.doubtnut.com/l/_NhvfSNgKr49J


Watch Video Solution

3. 

Watch Video Solution

cos 4x = cos 2x

4. 

Watch Video Solution

cos 3x + cos x − cos 2x = 0

5. 

Watch Video Solution

sin 2x + cos x = 0

https://dl.doubtnut.com/l/_NhvfSNgKr49J
https://dl.doubtnut.com/l/_F9egvkjGfh1D
https://dl.doubtnut.com/l/_4TNQbtVp8GiD
https://dl.doubtnut.com/l/_wDlivGfxE6IP


6. 

Watch Video Solution

sec2 2x = 1 − tan 2x

7. 

Watch Video Solution

sin x + sin 3x + sin 5x = 0

8. Solve 

Watch Video Solution

sin 2x − sin 4x + sin 6x = 0

https://dl.doubtnut.com/l/_wDlivGfxE6IP
https://dl.doubtnut.com/l/_oPst8bZiNoiS
https://dl.doubtnut.com/l/_lnUh653WNJCu
https://dl.doubtnut.com/l/_ta5THmjFVxD3


9. Solve 

Watch Video Solution

2 cos2 x + 3 sin x = 0

10. 

Watch Video Solution

cos 4x = cos 2x

11. 

Watch Video Solution

cos 3x + cos x − cos 2x = 0

https://dl.doubtnut.com/l/_lwfnUzeRrvZ3
https://dl.doubtnut.com/l/_gA7wQTxJrdDO
https://dl.doubtnut.com/l/_pKRZCBmaDPu1


12. 

Watch Video Solution

sin 2x + cos x = 0

13. 

Watch Video Solution

sec2 2x = 1 − tan 2x

14. 

Watch Video Solution

sin x + sin 3x + sin 5x = 0

https://dl.doubtnut.com/l/_VlQ1wGAxZSV9
https://dl.doubtnut.com/l/_E4YpyET7xr7k
https://dl.doubtnut.com/l/_xge1MotPf6tw


15. Solve 

Watch Video Solution

sin 2x − sin 4x + sin 6x = 0

16. Find the general solutions of

Watch Video Solution

2 cos2 x − 3 sin x = 0

17. 

Watch Video Solution

cos 4x = cos 2x

https://dl.doubtnut.com/l/_LqZJ7M54S3ef
https://dl.doubtnut.com/l/_V1UpynIBouyx
https://dl.doubtnut.com/l/_vEnA1F0eZHjf
https://dl.doubtnut.com/l/_B8qC4huhqDBo


18. 

Watch Video Solution

cos 3x + cos x − cos 2x = 0

19. 

Watch Video Solution

sin 2x + cos x = 0

20. Find the genral solution of 

Watch Video Solution

sec2 2x = 1 − tan 2x

https://dl.doubtnut.com/l/_B8qC4huhqDBo
https://dl.doubtnut.com/l/_R5c5uHVLcguY
https://dl.doubtnut.com/l/_FsXhb5GpBJX4


Five Marks Questions With Answer

21. 

Watch Video Solution

sin x + sin 3x + sin 5x = 0

1. Derive 

Watch Video Solution

sin(A + B)

2. Derive 

Watch Video Solution

tan(A + B)

https://dl.doubtnut.com/l/_3NYsmgcU5pOs
https://dl.doubtnut.com/l/_Vh5r5oEcUkdc
https://dl.doubtnut.com/l/_JnNo14L1t1Rk


3. Derive 

Watch Video Solution

tan(A + B)

4. Derive 

Watch Video Solution

sin(A − B)

5. Derive 

Watch Video Solution

cos(A − B)

https://dl.doubtnut.com/l/_JnNo14L1t1Rk
https://dl.doubtnut.com/l/_N9UNBvGK1SXd
https://dl.doubtnut.com/l/_5EwPZFNEf50g
https://dl.doubtnut.com/l/_PCqJKzSnpEZZ
https://dl.doubtnut.com/l/_cmeTspO4Oy3G


6. Derive 

Watch Video Solution

tan(A − B)

7. Derive 

Watch Video Solution

sin(A + B)

8. Derive 

Watch Video Solution

cos(A + B)

9. Derive tan(A + B)

https://dl.doubtnut.com/l/_cmeTspO4Oy3G
https://dl.doubtnut.com/l/_Kj9ZtMD2tVaW
https://dl.doubtnut.com/l/_Um4NOVnvJbUP
https://dl.doubtnut.com/l/_Koy1wJiEPnFD


Watch Video Solution

10. Derive 

Watch Video Solution

sin(A − B)

11. Derive 

Watch Video Solution

cos(A − B)

12. Derive 

Watch Video Solution

tan(A − B)

https://dl.doubtnut.com/l/_Koy1wJiEPnFD
https://dl.doubtnut.com/l/_ueAQfw4lT96u
https://dl.doubtnut.com/l/_0x1PDEPZhVR6
https://dl.doubtnut.com/l/_BGYeRdQNyAKu


13. Derive 

Watch Video Solution

sin(A + B)

14. Derive 

Watch Video Solution

cos(A + B)

15. Derive 

Watch Video Solution

tan(A + B)

https://dl.doubtnut.com/l/_BGYeRdQNyAKu
https://dl.doubtnut.com/l/_ZPhqadyBnjce
https://dl.doubtnut.com/l/_NORKj1yJc9Ex
https://dl.doubtnut.com/l/_nRCkOOJsD3gE
https://dl.doubtnut.com/l/_ge912tC9saJh


Alternate Methods

16. Derive 

Watch Video Solution

sin(A − B)

17. Derive 

Watch Video Solution

cos(A − B)

18. Derive 

Watch Video Solution

tan(A − B)

https://dl.doubtnut.com/l/_ge912tC9saJh
https://dl.doubtnut.com/l/_LkhFjhzyvsJj
https://dl.doubtnut.com/l/_JzzVclpZfaVH


1. prove that

Watch Video Solution

cos(A + B) = cos A cos B − sin A sin B

2. 

Watch Video Solution

cos(A − B) = cos A cos B + sin A sin B

3. 

Watch Video Solution

sin(A + B) = sin A cos B + cos A sin B

https://dl.doubtnut.com/l/_DSGCT0gSFXd2
https://dl.doubtnut.com/l/_95HRW5YNapz0
https://dl.doubtnut.com/l/_W9g1k5hlXWre
https://dl.doubtnut.com/l/_JxgcgX1uVe75


4. 

Watch Video Solution

sin(A − B) = sin A cos B − cos A sin B

5. 

Watch Video Solution

cos(A + B) = cos A cos B − sin A sin B

6. 

Watch Video Solution

cos(A − B) = cos A cos B + sin A sin B

https://dl.doubtnut.com/l/_JxgcgX1uVe75
https://dl.doubtnut.com/l/_p8GCNN4fWDvx
https://dl.doubtnut.com/l/_p9mqWspj6SgP


7. 

Watch Video Solution

sin(A + B) = sin A cos B + cos A sin B

8. 

Watch Video Solution

sin(A − B) = sin A cos B − cos A sin B

9. prove that

Watch Video Solution

cos(A + B) = cos A cos B − sin A sin B

https://dl.doubtnut.com/l/_8kJhH4o3LyNP
https://dl.doubtnut.com/l/_mhuD99IDpXwl
https://dl.doubtnut.com/l/_mkQIdggwiTPf
https://dl.doubtnut.com/l/_jbZ7OGMqNa6Q


10. 

Watch Video Solution

cos(A − B) = cos A cos B + sin A sin B

11. 

Watch Video Solution

sin(A + B) = sin A cos B + cos A sin B

12. 

Watch Video Solution

sin(A − B) = sin A cos B − cos A sin B

https://dl.doubtnut.com/l/_jbZ7OGMqNa6Q
https://dl.doubtnut.com/l/_uyPnI4Emkc69
https://dl.doubtnut.com/l/_mYSGew3WDI5E

